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NDA 1 2025 LIVE CLASS - MATHS - PART 2

Q) If sinf = x/gcose,—ﬂ:<6< 0, then 6 1s equal to

—DT —4T1 4T Tt
(a) ? (b) ? (©) ? (d) ?

’fdne = ﬁ

0= 1 oy T+ 1T
"3

1\
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(@]

EXAMS

Q) If sin6=+/3 cos0,-mt<0< 0, then O is equal to
—OT —4m 41T OTC
o b) = 4 2*

(a) R (b) ; (c) . (d) R

Ans: (b)
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\/1 — sinx + \/1 + smx—l

-1
Q) cot L/l—smx \/1+Slnles equal te
(a) m—x (b) 21— x
X X
(c) 5 (d) -

- ﬂ—-!ﬁ»x 'f'\/’“'fnl X \ﬂ"ﬁnx ~+ ‘[/H/'};x
l/l—fl'nx - m \//—!/ohx 7 \[l + Sint

)
(\[/-Kinx + \ﬁ"«‘fn") = (/:f/‘nl) 1(/7«5’7nx) + o?f(/fsfnx)(l—rfnzg

A
(\/l Sin1 ) ( lrﬁmx) [ = S$ma — | — ginn




NDA 1 2025 LIVE CLASS - MATHS - PART 2

(I—-!/'nx) r(/fﬁnx) + q (/fsfnz)(l——ri'nQ

[ =S$mx — | — ging

-_—

= 2+ 3V~ sy - &1 qwez -
— 2 " Az
. o~ [ et | “/aofl/g,]
R Jin I/Z Cof l/z

[+ cosx . ..[I-fco3£
— Simat $Inx
0s 6 :~?aox‘g___/
2
Smo = AUme w90
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eof -/ [___ Co'f_x_] ot~ (7,) = N - ('Jof—’(x)

R
T — of” mf_g_)
®
= N -2
4
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r\/l—sinx+\/1+sinx—|

-1 .

Q) cot L/l—sinx—\/l+Sinlesequalto
(&) T—x (b) 21— x
© 5 @ m-

Ans: (d)
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CIf 4sin”! x+cos”

sin~} x+4cos”

@ =n/f2
(b) =
fc} 3n/2

(d) 2n

L x=m then what is (PYQ-2024-11)
lxt:qual to?
o_, .
43") X T _7!:“ S,n-—,x =
K
Isin-ly = n- T
q
Sn-ly = LR
6

2 =8%nk - L

2 ?
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. If 4sin"!x+cos!x=n, then what is (PYQ-2024-1I)
-]
sin

x+dcos” ! x equal to?
@ =n/f2

(b) =

fc} 3n/2

(d) 2n

Ans: (c)
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What is cot?(sec™!2)+tan?(cosec™!3) (PYQ-2024-11)

equal to?
(@) 11712
(b} 11/24 awfo = /_ 1 2
{c) 7/24 2 V3 1_ 0
(d 1/24 - _‘f[_-’ ) ﬁ"f '-‘-'?’/Z
> b P fane = _L
P
(',01’11 “’“’(%) + fnng(fan'/(_/—) o - (sﬁ;o ’
3 T (sire)
S/

e
SR
\’
Mo
+
N
R
S
\;
)
co
<+
>~

0?‘//7
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What is cotZ(sec™!2)+tan?(cosec™!3) (PYQ-2024-11)
equal to?

@ 11/12
(b} 11/24
(c) 7/24

(d) 1724

Ans: (b)
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Q) What is the value of the following? ,

cot[sin" 1 [g] + cot™ ! (g)] = = B
5 2 ’fun 3")-, "" Q )]

@) > (b)

IS
c) — d) —
()7 ()6
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fan ( fan~! ( %}
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Q) What is the value of the following?

Ly

6 7
(@) E (b) ﬁ
(©) = (d) =

Ans: (a)
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4 (PYQ-2024-11)

Z
cnsEl s[——ﬁ —Hj cus[—ﬂ?]

then what is x + y+z equal to?

@ -1 Al g = 60°

(b} 0

© 1 X = é/ — =

(@ 3 s 60° Cos (/zo’-bo‘)
y 4 - __L_ >~ £
[ =/
b
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If

Z
EDEB s[——m—ﬂj cns(—n+ﬂ)
3

then what is x + y+z equal to?

fa) -1
(b) O
(c) 1
(d 3

Ans: (b)
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If ptan(@-30°)=gtan(6+120°), then (PYQ-2024-11)
what is (p+q) /(p - q) equal to?

(a) sin26

(b) cos 26 A -L)
(c) 2sin 20 p-1 1
(d) 2cos 20

“
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2 = fan (o0 +120°)
Z fan (0-30")

Aef & =40°

\o’

_Z_ ° 'fnn(60°+f2° B
2 'fbn(go"-Bo") 7(47’300

\)

L 1
L= g /3
P’Z ya

_ fmigo
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If ptan(@-30°)=gtan(6+120°), then
what is (p+q) /(p - q) equal to?

(a) sin 28
{b) cos 26
fe) 2sin 20

(d) 2cos 206

Ans: (d)
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Q)If 7sin 0 + 24 cos O = 25, then what is
the value of (sin© + co0s0)?

26 6 31
(a) 1 (b) e (c) - (d) e
9(%} + o?{[(_'zz_ - __°?_$f_ = 1%
Z 25 s
$mo = 2. Cos¢ = 2
2% a8

7' 292 = a5

(fﬁfﬁadieman 7"!/}9/”)

Sino # 0y

s I
AT ay 2,
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Q)If 7sin 0 + 24 cos O = 25, then what is
the value of (sin© + cos0)?

@) 1 0L ©f @

25 5 25

Ans: (d)
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Q) If A+ B= g, what are the greatest and the least

values of cos A cos B, respectively?

(a) 1/2and 0 (b) 0 and —1/2
(c) 1/2 and —1/2 (d) 0and -1
_ ]
0o A m(:za - A} for Sin 24,
0 0 0 reﬁfaf Vﬁ/ai = l
SAsind = L [qC3A Qnﬁ] = (L gn a4 7
3 . leosft ol =
(Guatet  Lx/= 1 [x-t =~/
o) $1 T it )
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EXAMS

Q) If A+ B= g, what are the greatest and the least

values of cos A cos B, respectively?
(a) 1/2 and 0 (b) 0 and —1/2
(c) 1/2 and —1/2 (d) 0and-1

Ans: (c)
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Q) If 0&+B:g and B + vy =o, then which one of the

following 1s correct?

(@ 2tanPf+tany=tana (b) tanPf + 2tany=tano
(¢ tanB+tany=tana (d)2(tanf +tany)=tanao

P .,c}/ - 7(”’/9-} fanr = ’fam{ — 7(0‘7’9(7(07537&"’/
7 " W — fa (7 _ fam
'fmo(/a r} fan o m‘(fa (Z d)) r

ﬁnff 'fan?’ - ’I‘amg 'fan/g F vy = 7{37)0{
/- fhn/e'/nn,'
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Q) If 0&+B:g and B + vy =o, then which one of the

following 1s correct?

(@ 2tanPf+tany=tana (b) tanPf + 2tany=tano
(¢ tanB+tany=tana (d)2(tanf +tany)=tanao

Ans: (b)



NDA 1 2025 LIVE CLASS - MATHS - PART 2
(@]

Q) What 1s the value of tan 15°- tan 195”?\’\
(a) 7— 443 b) 7+ 443 Fan*)5°
c) 7+ 2V3 (d) 7+ 6v3 —

fan(ys°- 30") = fan15° _

— T

fanys’ — fan30’ = /- 7(3 S
dom 1450 = Ton (1&o°+/57 [+ fanys® Tanse’ 4 _L; 4/
> fanis? : §
40”2/50 :(\/3 -] - 3+/ —,?\G - 4"02\/3
V3 +/ JH G yrafs
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b-als g h-a35 . lbri—N(3 = 48 -1S5
4+ 23 4 -4V [6 -2 9
> 9"?‘/}

M
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Q) What 1s the value of tan 15° tan 195°?
(a) 7- 43 b) 7+ 443
(©) 7+ 2V3 (d) 7+ 63

Ans: (a)
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EXAMS

Q)If cos 6 = - (x 4 1) ,then £ (x2 + iz) is equal to
2 X 2 X
(a) sin 26 (b) cos 26

(c) tan 26 (d) sec26
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(@]

EXAMS

Q)If cos 6 = % (x 4 1) ,then % (xz + i) is equal to

b # ;)(;2
(a) sin 26 (b) cos 26
(c) tan 26 (d) sec26

Ans: (b)
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Q) Let 0< x< % then (sec2x — tan2x) equals

(a) lan (x — %] (b) tan [% — x]

(c) tan [x + %] (d) tan” [x + %]
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Q) Let 0< x< % then (sec2x — tan2x) equals

w ) o (5]

(c) tan [x + %] (d) tan” [x + %]

Ans: (b)
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Q) What is the value of :
157
cos| tan ~< tan .
ERCE;
1
(@) Y ®) 0O

1 1
© 75 d —
V2 Nz
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Q) What is the value of :

ol 7

(@) - ) 0
2

1 1
© 75 d —
V2 Nz

Ans: (c)
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EXAMS

Q) What is the value of tan (7 %) ?

(8) 6 ++8 -J2+2 () /6 ++/3+/2 +2
© V6 -v3+v2-2 @ V6+J3+4/2-2
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Q) What is the value of tan (7 %) ?

(8) 6 ++8 -J2+2 () /6 ++/3+/2 +2
© V6-v3+4v2-2 (@) V6+V3+42-2

Ans: (c)

EXAMS
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Q) The value of sin 36° sin 72° sin 108° sin 144° is equal
to
(@) 1/4 (b) 1/16 (c) 3/4 (d) 5/16
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Q) The value of sin 36° sin 72° sin 108° sin 144° is equal
to
(@) 1/4 (b) 1/16 (c) 3/4 (d) 5/16

Ans: (d)



NDA 1 2025 LIVE CLASS - MATHS - PART 2

Q)Ifcos 0 + sec 8 =k, then what is the value of sin® O — tan® 07
(@) 4—k  (B)4—-Kk (o) K¥-4 (@ K+2
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Q)Ifcos 0 + sec 8 =k, then what is the value of sin® O — tan® 07
(@) 4—k  (B)4—-Kk (o) K¥-4 (@ K+2

Ans: (b)
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EXAMS

Q) Ifthe sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@) 90° (b) 120°
(c) 135° (d) 150°



NDA 1 2025 LIVE CLASS - MATHS - PART 2
(@]

EXAMS

Q) Ifthe sides of a triangle are 6cm, 10cm and 14 ¢cm, then what
is the largest angle included by the sides?

(@) 90° (b) 120°
(c) 135° (d) 150°

Ans: (b)
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